s

ok - =

48

28 4-0D %8&
ac
[ N il - AYRTL—h | "=2TL— | AT
; ‘ r”i T AU, @ e YL | A |@B|8C|0D| OE | OF |0G | @H|6)| K | L | M |oN
4] TC-AR(T-G6 20kN | TruriooF | Tr-LrosoF | M5x12| 55| 53| 38 | 66| 98| 80| 66| 60| 42| 15| 25| 15 | 60
I 2T L—h TC-AR(T)-G6 30kN | (%90.13kg) (#90.6kg) | M5x12| 55| 53| 38| 66| 98|80 |66| 60| 42| 15|25/ 15|60
i T
= ! i M T TC-AR(T)-G8  50kN TELRIOIE | M8x25| 98 | 118|100 11 | 148|124 9 |100{ 80 | 30 | 40 | 28 | 100
‘ ) 406 5E TC-AR(T)-G8 100kN | TF-UROSOF | (#929ka) | mgx25| 98 | 118|100( 11 [ 148] 124] 9 |100| 80 | 30 | 40 | 28 | 100
; H I \assr AL (#1.53k0) [~ 1 jiarr
L___oF || “Gemccomecrsy | TC-AR(D-G8 200kN (58kq) | MBX30| 113|118 |100| 11 | 168| 144| 14 | 120| 90 | 40 | 45 | 28 | 120
OF #5.8kg
TCG-FRHA TU-MBRA ~—xz7L—r
YETL—t 053 4066 8 . =
RO o st A RTL= [ NRTL—F [ At
(B8) (B8) RIL b
9 TC-FR(T)-G6 500N
Fx TC-FR(T-G6 kN
4 i TCFRM-GO KN | TF-URI02F | TF-LROGOF | /o (s
ATt TC-FR(-G6 SkN | (¥90.13kg) (#0.6kg)
(TF-LR0507) o S TC-FR(T)-G6 10kN
: 260 -\ 4:M5 X102 AT RIL b
L%J (BEHRICTTRAREELY) TC-FR(T)-G6 20kN
6.5
TU-PGRSH
— AR N2 | AB
YRFL—h (TF-UR ac - A i — A
Lol SRR 400 § JU—t | JL—k | 7 | A |@8|oc|oD|oE| oF 0G| oH| K | L |M|oN
L TREE @®) | @ | Rk
N = TU-PGRS-G | 100N 200N, 500N 1KN | TE-URT02F | TF-LROSSF
= 3-M4 |63[53| 38 |66|98|80|66]58|15(33|15|58
1—4) o TU-PGRH-G | 200N, 500N, TKN (#70.13kg) | (#90.62kg)
P TUPGRS-G | 2K, 3N, SKN TPLROSOF | 16 [ 96 98 | 80 36| 12| 11 | 88 |25 |47| 24 88
o—FtL - 1 {136] 12| 1 5| 4724
1= TU-PGRH-G | 2KN. 3KN, 5KN TF-UR002F | (#92:45kg)
- N oH 4-0G (#90.86kg) ~
LA BTN or TU-PGRS-G | 10KN, 20KN TPLRIIBE 16 Mg |109] 98| 80 | 11 |178] 148| 14 | 11830 55| 24 | 118
oE (#94.7kg)
TCG-WARH
o e Azt ’\";;:)_# N_g;_# *ff‘:‘j A |28 | oC|oD | oE | oF |06 |oH @) | K | L | M |oN
O—R+)b =, =, N
o TC-WAR500N ~200KN
TCWARS00N
R L‘—t Huﬁ
T T o TCGWARTKN
< N 1
MV BN TCWARZKN | TE-URI02FS | TF-LROSOFS
M5 12 | 60 | 53 | 38 | 66|98 | 80 [ 66|60 | 42| 15|30 | 15 | 60
] ﬁ HilE TC-WARSKN (#30.13kg) (#90.6kg)
2 406 & TCWARIOKN
OH
| +J p i TCWAR20KN
(BERICTTRBEEY) TGWARS0KN -
TPLRIOFS |y w30 | o8 | 118 | 100| 11 | 148] 124| o |100] 76 | 30 | 40 | 28 | 98
TCWARIOOKN | TF-UR0SOFS | (#92.9kg)
(#91.53kg) [
TC-WAR200KN TPLRIZ2FS | e w30 | 113 | 18| 100| 11 | 168|144 | 14 | 120| 90 | 40 | 45 | 28 | 116
(#95.9kq)
J




TEAC

7
Ay I RRTY5
TU-BRA
oL OYRIVRERTUS
(TF-RROICICIF)
S
O—Fl | QYRIVEA7UZZ | H | J | @K | L |@M N
o ok TU-BR200N-G 5
N AT h (TU-BRCIIN/KN-G)
\&% TU-BRS00N-G TF-RROO6F 126| 108 | 6H7| 9 | 18 | M6X1.0 ik
mE T T TU-BRIKN-G =
- 3
: ; TU-BR2KN-G e
i e TU-BRSKN-G TF-RRO12F 199 | 165 | 12H7| 16 | 34 | M12x1.75 &
JT"T‘L TU-BRIOKN-G
|
E;i TU-BR20KN-G TF-RROT6F 229| 190 | 16H7| 19 | 39 | MI6X2.0
Oy RIVERTYYY ‘
(TF-RROCICIF) oM
XAATY MEIBFHICTIRECEEL
TU-MBRA TU-QRA TT-FRA
6
12 45 128" 16 81
9 +0.13 - 13.25 £0.13
= 3 A
/ = B S
~
ﬁé)ﬁ i1 S
Eyi
KJ o | Oy RIYERTYYY g
| == (TF-RRO08F) Oy RTYRATUYS
Vav::padn (TF-RR112F)
B
- IR oO—F+)L (TU-QR)
~ 11X B—Fe)LTT-FR(M)
h [ ] [ ] L
R
g
|| M3 X0.5 ||
OYRIYERTYYY
(TF-RRO08F)
e
S
@22
@34
XABT Y FEEERISTIABRCESL
Ay FIVRRTY Y, B8RV TH T2—
TU-PGRSH ¥
1-I-
D OuFIYERTYZYTFRR) AL
.
‘ H
AT 1) -, N
= ’*\“‘yr o OvFTVF | 3B =%
275 75 TETR) ] ~7Uvg | 747%— | A | B |@C| D | GE F G oH aQ
th EREE (@®) () =3
] TU-PGRS-G | 100N, 200N, 500N, TkN x -
— of < TFRROOSF | TPTROSBF | 135 1 107 [ gH7| 11 | 23 | M8 x 125 |3-Max35| 58
== i[*jr TU-PGRH-G | 200N, 500N, TkN (#90.15kg) | (#90.36kg)
Ve o7 TU-PGRS-G | 2KN. 3KN, 5KN TE-RROI2F | TF-TROSSF
e 203 | 169 |12H7| 16 | 34 |M12X175[6-M6x50| 88
S i TU-PGRH-G | 2KN. 3KN, SKN (#0.15kg) | (#91.9kg)
GARATUFERIVE, Q)
(BERICTTRELEY) '
ORIV AT 7 (TF-RR)
\ XAATY MEIBFHICTIRESEEN

49



5|
ik
E
#a
ﬂ

50

TEAC

77t —

(= ol e R
TU-MBRA TU-PGRSH (9=
\4%
234
%G o, é&@ 221 gs&@ e
1 . 5 T - ==y
~| = TI.Y‘ 5 €03 N o
M3 i 8 j 5
M8x1.25
M12x1.75 —
_ M18x1.5
TF-LBOO8F-G (100N~1kN) TF-LBO12F-G (2kN~5kN) TF-LB018F-G (10kN~20kN)
EEREY1ESHEE

TU-MBRA (19/E®)

L
— s

12 55| 6

oL






